SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| dooote
MATHEMATICS / 7Tfora

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue Afpaq 3P : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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dhegeiey BT YA affd 2|

Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

(—2—\/§ )(—2 +3 ) when simplified is :
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(A) positive and irrational (B) positive and rational
(C) negative and irrational (D) negative and rational
WA R (—2—J§)(—2 +J§) CRLE

(A) &7 qen U (B) &= qen wie=

(C) =R qen saRe (D) rw qen wRe

Which of the following is a polynomial in y ?

(A) y2+ \2 (B) y+ b, +2
© Jy +2y (D) yyy +1
Frefertiad § & F Y T 2

(A) y2+ V2 B) y+ J,+2
© Jy +2y D) yy +1

If x3+6x2+ 4x + k is exactly divisible by x +2, then k is equal to :
(A) —6 B) -7 € -8 (D) -10
afg (x+2) sgag 13 + 6x2+ 4y + k FI Q- famsa s Ak w1 aE T

(A) —6 (B) -7 C) -8 (D) -10

Product of (x - lj, (x + lj and [xz + l) is:

X X x2

1 1
(A) x4f+x—4 (B) x3+x_3_2
1
(C) x4—x—4 (D) x2+x +2
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(A)  60° (B)  80° C  120° (D)  160°

(A)  60° (B)  80° C)  120° (D)  160°

In APQR, PQ=QR and ZR=50° then ~£Qisequalto:
(A) 90° (B) 80° (C) 65° (D) 100°
APQR#PQ=QR 3R /R=50° d9 Q! AH &1 :

(A)  90° (B) 80° (C) 65° (D)  100°

The base and hypotenuse of a right triangle are respectively 6 cm and 10 cm long. Its area is :

(A) 60 cm? (B) 120 cm? (©) 30cm? (D) 24 cm?

T HHRI TS T STER T H0T ShAsT 6 THT T2 10 Tt 8 | F1sT o1 &9kt ©

(A) 60 TP (B) 120 HHR (C) 30 HHR (D) 24 GHR

The difference of semi-perimeter and the sides of AABC are 8 cm, 7 cm and 5

cm respectively. Its semi perimeter is :

(A) 10cm (B) 5cm (C) 15 cm (D) 20cm

et fregst ABC % a1efufimy o7k ofsiefi & Sfa A9 8 cm, 7 cm, 3R 5 cm | U1 AUl 7 |

(A) 10cm (B) 5cm (C) 15 cm (D) 20cm
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Section-B

Question numbers 9 to 14 carry two marks each.

9.
Evaluate, (0.00032)_2/5
%
(0.00032) 75 =1 HH J1d SHifSC |
10 Factorize : 27x3 + 125y3.
oRES FT : 27x3 + 125y3.
11.

Without actually calculating the cubes, find the value of 203 +103 — 303,
&S B T okl Yieherd fohdl forr, 91 o1 09 3ma sife .

203 +103 —303,

12.  Infigure, if /|| m, then find the value of x.

13.  Show that of all line segments drawn from a given point to a line,

not on it, the perpendicular line segment is the shortest.
T9izT o Tk W ok Tt fomg @, < S0 Y@ W fee =& §, 9o Y @ve g o1 9o §, ST o |
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14.

15.

TErET gad Bl B 2 |

OR
Prove that each angle of an equilateral triangle is 60°.

fag wifse f Tueng st 1 g w001 60° T |

In which quadrants do the following points lie ?
(@) (2,-1) (b) (=1,7) () (=2, -3) (d) (4,5)

=1 faeg T forey =rqartent & feem €2

@ (2,-1) () (=1,7) () (=2, -3) (d) (4,5)

Section-C
Question numbers 15 to 24 carry three marks each.
Let x and y be rational and irrational numbers respectively. Are

x+y and xy irrational ? Justify your answer by an example for each.

T o x T R S § a9 y U STaiHE wem €1 @ x4 i 3R xy ST S E 2 o SW
1 FHIEN IR ! Wer™dl § IS |

Give an example of two irrational numl())eis whose :
(A) sum is rational

(B) product is rational

(C) quotient is rational

fereel 3t sTaftirr Hemsti w1 s SifS e -

(A) Ir ofes dem g1

(B) TTNA T 9T HE&A S

(C) e U UREE Hem B |
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16.

17.

18.

19.

If x=3+2 2, find the value of (\/_ — ij )
Jx

aAgx=3+2 2, (\/E — %J 1 A 1T HIfTT |

Factorise; 2y3 + y2 —2y—1.
TGS H : 2y3 +y2 — 2y — 1.

OR
Find the value of (x—a)3+(x—b)3+(x—c)3—3 (x—a) (x—b) (x—c) where
a+b+c=3x.

(x—a)3+ (x—b)3+ (x—c)3—3 (x—a) (x—b) (x— c) =1 =7 @ FT, 4z a+ b +c=3x.

Simplify : (a+b+c)2+(a—b+c)2+(@a+b—c)%
WA FC: (a+b+c)2+(a—b+c)2+(a+b—c)2
In the figure below, the side QR of APQR is produced to a point S. If the

bisectors of ZPQR and ZPRS meet at point T, then prove that
ZQTR= 15 ZQPR.

P T

Q R §

amhfa & APQR &t st QR &1 S @ sigren T g1 afc /PQR 3t /PRS & wafgyrsa T W faed
% @ fag =t fF ZQTR= 14 ZQPR.

P T

OR
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In the given figure, AB||CD and CD||EF. Also, EA 1 AB. If /BEF=55°, find
the values of x, y and z.

A A A

A c E

/y
B x - F

Y Y Y

W= & M amepfa #, AB||CD, CD||EF @1 EA 1L AB 21 afs ZBEF=55°%, @i x, y 3R z % AN
T SISy |

A A A

A c E

20. |n the given figure, lines AB and CD intersect at O. If ZAOC+ /BOE=70° and
/BOD =40°, find the value of Z/BOE and reflex ZCOE.

C
E
‘A O ];}r
D

< T arpfa , Y@nd AB @ik CD Tk gHt w1 forg O W witese sheet &1 af€ LAOC+ ~BOE =70° 3R
/BOD =40° &, @ £/BOE iR "fqaxt £ COE &1 A F1d shife |
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21.

22,

23.

24,

25.

B D E C

In an isosceles triangle ABC with AB=AC, D and E are points on BC such that BE =CD.
Show that AD = AE.

e gAfgang st ABC § AB = AC @enn D 3R E fag BC W 39 Y&R ferd € fof BE=CD | izt fo
AD=AE %I

/]

L

Y Z

In the given figure, £ X=62°, ~XYZ=54°. If YO and ZO are the bisectors of ~XYZ and
Z XZY respectively, find ~0OZY and ~YOZ.

MR H L X=62°, £ XYZ=54°. afg YO qen ZO FH: v~ XYZ qe1 ~ XZY & gafgyres §,
£ 0ZY aa £ YOZ 91d ifsq |

Prove that if two lines intersect, the vertically opposite angles are equal.

e 1 T WER Yiaesg il €, d fag hifsre fF e o sier 8§

The unequal side of an isosceles triangle is 6 cm and its perimeter is 24 cm. Find
its area.

T Tufgarg s S T STEEE S 6 cm § T 3HHT 9RETT 24 cm T 1 SHHT &A% H TS|

Section-D
Question numbers 25 to 34 carry four marks each.

Express 1.32 +0.35 as a fraction in simplest form.
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1.32 + 0.35 & TaoqH fies & w9 ¥ fafan |

OR
Simplify : \/@ + 3 - 4\5
PV A B o+ B2
WW: J@ 3 4\/§

2+ B+ B B2

26.
Rationalise the denominator of

1
7 + 6 =13

& B R TRAITRTTT TSy |

1
V7 + 6 - 13

27. The polynomials x3 +2x2 —5ax—8 and x3 + ax2 — 12x— 6 when divided by (x—2) and

(x — 3) leave remainders p and q respectively. If g—p =10, find the value of a.

FgTel X3 4 2x2 —5ax — 8 & x3 + ax2 — 12x — 6 1 FAW: (x — 2) T (x — 3) | fanfom 0 W
YHHE SHAY: P AT Q W B 8 1 A q— p =10 T 79 a 1 A F1d T |

28. Ifa+b+c=5andab+bc+ac =15, find the value of

(a+b)3+(b+c)3+(a+c)3—3(@a+b)b+c)a+c).
aca+b+c=5amab+bc+ac=153,

(a+b)3+ (b+c)3+(a+c)3—3(a+Db)(b+c)(a+c) F =m 7@ Hifww,

29.  Find the values of p and q so that (x +1) and (x — 1) are factors of polynomial
x4+px3+2x2—3x+q.
p e q % " 7 Fi frEs faw (x+ 1) qen (x— 1) sgwe x4 + pxd + 2402 —3x +q ¥

TGS ¥ |

OR
Factorise :

x3 +13x2 + 32x + 20.

Page 9 of 11



OGS HifY
x3+13x2 +32x +20.
30.  The length of perpendiculars PM and PN drawn from a point P, on x-axis and

y-axis are of 3 and 2 units respectively. Find the co-ordinates of points P, M
and N.

afe fag P & & T x-3181 3R y-2181 W @ PM iR PN &t ewamgat s 3 Tk 3iR 2 Theh &
P, M si N fargai ¥ fferies s Fifr

31.  |f PQ||ST, ZPQR=110° and ZRST = 130° find ZQRS.

T

.
>

In the given figure, D and E are points on the base BC of a AABC such that AD = AE and
/BAD= /CAE. Prove that AB=AC.

§ T omfa H, AABC & =myR BC W fog D a1 E 39 wsr fog & fF AD=AE § o
/BAD= /CAE | fag =ifsq f& AB = AC.
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B D E C

33.  In the following figure, AB is a line segment. P and Q are points on opposite sides of AB
such that each of them is equidistant from the points A and B. Show that the line PQ is

perpendicular bisector of AB.

=1 stpfa §, AB U Y@rEE § qen P aen Q suek! fauda fewmsi # sw yeR & fag € f 9 P @en Q,
forgeiil A den B @ gy ¥ 1 <uiise fF Y@ PQ, AB &1 @l SHIGHIS |

P

Q

34.  Prove that the angles opposite to equal sides of a triangle are equal.

fag wifse for fordt fre & s oonsil & T0g@ 1o aek 81 2
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